EARAROBEEIERT — 2 N— IBISH —F

2013547270 (£) 2EF=3H

LRW U T REE 4L RBEF

(:EA

[xwlm | 1memml - | ) s mE

[A~&£] 1 7% :7,000,000  ~ 237 :2,800,000 H

Il:bl:l) /Hfﬁ
/

3 j&:1,800,000  ~ 4 3#%&:1,100,000 @ 5 & :700,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
4t 4 | IAER 3:20.6 3-3-2-1 [13.4| — 4 488 | AEIHE ()
11711717 [B] 5.0 - e | MEEZ
LV TFTHIA R By v—1)>y * =
e 4 4 | EFHKF 3:20.7 1-1-1-2 [ 13.4| — 2 466 | —/BHF (FH)
21813 H=F> 59.0 (3/4) (+4) BEL—Z ()
L:ZFA4d-I K B:7XFz—F ke
> . 44 | WARS 3:22.0 7-7-5-5 | 13.5| — 7 486 | MALURRA (@)
E-E—-v1t> 59.0 (8) (0) () JRES
LU Hh—> BRAL—FIby—F RIS
S #HiEER : -3-2- - Rt (FER)
®T7AZ2—2Y > k o4 i 3.(212).2 4-3-2-3 | 13.5 3 (5_322) it
A:Corinthian £ :Menifeeque Mr. & Mrs. C. W
= S LA N AHR— 122, —-5-4~ . — HREl (%H)
Z>71)>70-X 6 58.07'( (31212/24) isaa 188 ° ff;) HEZ
R:TIRATTaIN Bk /%2 Hh FRBE%S
- N =gl :22. -8-7- . — BERER (EH)
Yo—H AL R o4 2l 3(232)9 9-8-7-7 | 13.5 6 4&2 R
RARY WY 4= BB —RHHZR AKHT 77— 4
N SAREA . 0 A — KFNER (/)
HTELINLY o4 o 3.(274>.o 8-8-6-6 | 13.6 12 ;1_73 A
RRK—>F%2yd B:5TV—-A F—7 Liilibae]
NI B4 | DEEFHK 3:25.4 10-10-10-9 | 13.7 | — 8 452 | BREXR (FiH)
8lgl14| 7I7VHT 57.0 ©) (g) | PUEEAFL
Ry IAw>ZX B:IT7ILTY e ]
. > 5 | EHSEY 3:25.5 4-6-7-7 | 13.7| — 10 | 464 |FHEEX (E#)
9|57 Ttk - 60.0 (7€) +2) BE=
RA—T XA A4 B:FL—7>KrK7O0-1U— HET77— L
= i 4 | KIRE 3:25.9 11-11-11-10{ 13.7 | — 9 502 | KiILRE (%)
10/5|8 | TVT7 U=/ 57.0 @ 1/2) (p) | A
L BLRA Y E—T BAAT /T30y [ia=Ese]
N i o4 | RBHER 3:27.5 12-12-12-12| 13.8 | — 14 | 490 |FAEREMME ()
] 9| AR =Ty X 59.0 (10) (-p) | BERE
L:24%>v ML B:FF+a70L223 =tstie]
. £ 4| LHA 3:32.8 13-13-13-13| 14.2 | — 13 | 446 |HVHY ()
12712/ ® T ALF Ty H— ~ %1 50 (44 4) +8) AR
LA 3949 Ry BTV IVRA—h $#HE IER
5 = _ 4 4 | EFFKRER 3:34.5 2-2-9-11 | 14.3| — 1 476 | REEEZ (ERH)
130010 LT ¥INT— b 57.0 (24 4%) t6) | () dHus
RixAvagR—5— BNAH— it 45
N o 42 A+ R = = — - FIREX (EH)
%[ 11| ZVAT7F 2R 8l &0 (chib) 1 (5230) EBEmHE
R:T7NTFY B:a— kT HET7— L
@ 21 L
£y 53.2-40.0
ngraAq L
® I—F—@EBIERL
15=2r= 13-10-11-(7,4,5)-3-9,6,14-8,2=12 1
23—+ — 13=10(11,4)5,7=3(6,9)-14=8-2=12 1
== 13-(11,4)=5-3=9-(7,6) 10-14,8=2=12 1
43—+ — (x11,13)4=5=3-9(7,6)=14,8-10=2=12 1
[ N5
B Op 1" 1,400 794K 11-13 690 & 7-8 1,820/ &R 3-11-13 7,880
# B 1 300H 3-11 1,590 B E 11-13 2,110 EE 11-13-3 55,430
13 190M4 3-13 940M B H 11-13 4,980M
3 410M

ABICOVWTRDTEEERROODE. TR LIV,




